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Instructions fto the-¢andiddtes:

1) Al[squvésiioms‘i&re compulsory.
2) Al »questio'n"‘s" carry equal marks.

3)  Draw neat diagrams wherever necessary.

Q1) a) Explain Guided transmission media in detail. [4]
b) Compare OSI model Vs TCP/IP-model. [6]
OR
- a)  Explain Ethernet Frame E‘Qi’miii & Access method. (4]
b) Explain Need of Lzlyerm.g&with’ example. [6]
02) a) Draw and explain IPv6 packet format. 4]
b)  Generate 'CRC code for the data word - 11001010 using the divisor -
10101. [6]
OR

a) For the given Class-C IP Address - 198.168.57.23 and ‘subnet mask
255.255.255.192. Calculate [4]

i)  Total no. of subnets
ii)  Total no. of Host IPs/Subnet
iii) Total no. of Valid Host IPs/Subnet
| iv) First and Last Valid IP for each subnet
by Describe any two Error-detection techniques. [6]
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05) a)

b)

Fand the maxmum nanmber of Hoste avadable on o Clas< B IP addyes:
Cwith subpet mask S5 255 255 2000 Also Tovd maccoam nrnbey

subnets avatlable (4]

Describe HDLC protocol with its suby types and franme format. (6]
OR

Explam perfarmance of TCP protocol in wireless network. [4]

Detect and cotrect the single error in the received Hamming code word

FTOOTLIO0TT0 - with odd parity. 6]

Fxplam ditferent sccurity attacks. (4]

Explain MIME in detail. [6]
OR

Explain symmetric key cryptograhhy with example. [4]

What is HTTP? Explain H'l".v[‘l‘?"‘\lg;e‘cjuq_sl and response messages in detail.
coffl R (6]

Explain path vector 15‘"%6‘&)00‘1 in brief. [4]

Write a TCP server bockei« program which accept a request from clizit
to capitalize string and; sendmg the response in the form of capitalized

senténce back to the client. (6]
; ox :
Explain RIP in detail. & " (4]
Write Client and Server programs for establis shing and termination of
connection between client and server using TP, . [6]
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